ID:1210 P- 1

P e SR
F E 5 B O#E 5 B gl Rk
L S FI064£09 H 05 H ETEREL 82 kv (Biir)
ih A PE Hi wmH | Wkoe | A =g EfE e g1

X R AbifEE 10. 00| FH%f 76 760 1,188
N AbifEE 10. 00| FH%f 175 1,750 1,944| 1,243 540
HOR ™ 5 5. 00| FHx} 19 95| 3,240| 2,740 1,620
H ¥ E ¥ 15. 00| AHxf 500 7,500 2,052 1,427| 1,339
X H D iz o=t 10. 00| FH%f 500 5, 000 1,156 1,084 918
1E 9 NAE £ % 4. 00| FH*} 57 228 4,968| 4,869| 4,860
H A = 3. 00| FH*} 190 5701 1,944| 1,444| 1,188
H A [l R 1. 00| Hxf 180 180| 2,160| 1,748 486
& I | soo0| kx| 3] 15| 3,240] 2,664 2,376
A ™ 5 5. 00| FH*} 139 695| 2,700 1,984 1,188
= | 0.40| 4A%F | 1,180 42| 200 181 124
LE L =g 4. 00| FH*} 509 2,036 2,808 2,406 1,512
H K % 5. 00| fHx} 21 105 3,024 2,520 1, 620
EN R 5.00] FAAF| 579 2,895 3,024| 2,428 1,620
v— =g 0. 15| FHx} 1, 950 296 108 98 49

2RI AbifEE 10. 00| FH%f 32 320 3, 240
A7 k= | AbifEE 3. 00| FH*} 757 2,271 3,240 3,089 2,160
H 7% w5 5. 00| fHxt 122 610 1,944| 1,703| 1,080
£ A Ak 20. 00| FHx} 113 2,260 3,564| 3,193| 2,700
5 FE | 10.00] RHkf| 511 5,110] 2,376 2,201 864
LA A £ % 10. 00| FA*f 1,719 17,190 3,132 2,353 1,512
=L £ 4. 00| FH*} 468 1,872 3,564| 2,460 1,134
AEHEE w5 0. 10| #Hxf | 4,600 460 162 104 54
ZDEH E ¥ 0. 20| FHx} 2,100 420 81 73 67

LU 5 W 0. 20| FHx*} 300 60 92




ID:1210 P- 2
P e SR
F 2 o4 B O#E 58 H 5l Rk
R3HE A F064£09 H 05 H 5| v (g 51 kv (Blir)
i 4 JE Mt wmH | Wkoe | Ak =g e fiE e g1
ONRD £ ¥ 10. 00| AHxf 30 300 3, 966
oK Ao 10. 00| fHxf 2,922 29,220 4,860| 4,623 3,456
AR 5 10. 00| AHxf 292 2,920 7,560 5,612 4,860
PE wmoE 5. 00| FHxt 531 2,655| 3,996| 3,340 2,700
SR %4 5. 00| FHx%t 11 55 6, 720
B E. 60| fHxt| 336 201 464 377
kil 0| MAkF| 1778) 534 324 3000 184
NEYIN N 10. 00| FH%f 70 700 4, 860
Avara 7 4 U ¥ | 13.00] fHxf 2 26 2, 862




